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TOPICWISE EXAM - 16

27. a) 1 1 1 1 1

      V = a3 = 103 = 1000cm3 = IL

28. c) 400 400 400 400 400en‰¿en‰¿en‰¿en‰¿en‰¿

  Iyq-_ns‚ hym]vXw= a3 = 50 L

       hi-Øns‚ \ofw

        Cc-´n-®m¬ hym]vXw =  (2a)3 = 8a3

                                             = 8x50 = 400L

29. d) 6 6 6 6 6cm

             a3 = 216

                    a = 6cm

30. d) 1728 1728 1728 1728 1728cm33333

        aq∂p-h-i-ß-fn¬ G‰hpw sN-dnb hi-Øns‚
    Iyq-_m-bn-cn°pw G‰hpw henb ka-N-Xp-c-°-´-

bpsS hym]vXw

               a3 = 123 = 1728 cm3

1. c) 1792

2. a) B¿X¿ sh√…n

3. d) Sn∏p-kp¬Øm≥

4. a) B¿tIm´v

5. c) lnam{Zn

6. a) tkmPne

7. c) tjy-m°v\Zn

8. c) \µm-tZhn

9. d) sS^vtem¨

10. b) t_°-sse‰v

11. a) t¢mtdmt^mw

12. c) Fs‚ PohnX IY

13. d) 1990

14. c) ae-_m¿ PmY

15. c) 30

16. b) 39d

17. d) DkvXmZv

18. c) ae-∏pdw

19. d) has been raining

    (Present perfect continous tense form

   subject + has/have + been + verb +ing)

20. a) Written

( Present perfect tense form

subject + has/have + V
3
 form

21. d) have just cleaned

(Present perfect tense s‚ keyword BWv just)

22. c) lying

23. c) ]n.-Ip-™n-cm-a≥ \mb¿

24. b) kzm-Xn-Xn-cp-\mƒ

25. b) F≥ IrjvW-]n≈

26. c) N-ß-ºpg


